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ALLEN

Topic : Basic Mathematics used in physics & vectors , Laws of Motion and Friction.

1. If y =—2x’ + 5 then graph between dy/dx and x 1. Aey=-2x>+5% ar dy/dx qT x % eI Ik
is :- BT :-
dy/dx dy/dx dy/dx dy/dx
(1) () (1) 2)
X X X X
dy/dx dy/dx dy/dx dy/dx
3) x4 (3) x4
X X
2. The velocity v of a particle is given by the 9. TF F F AT GHET R v = 612 60 &
equation v = 6t — 6t> where v is in m/sec and o .
e v m/sec § & aUT t GHUg A &l :-
t is time in seconds then :
(1) att=0, velocity is maximum (D) t =0 UT, 3T ATeRd ®
2 2
2) att= 3 velocity is minimum 2) t= 3 T, aﬂﬁljﬁ'ﬁf%
(3) minimum velocity is zero 3) Wjﬁﬁéﬂﬂf‘?%
(4) minimum velocity is — 2m/sec 4 S Rkl 3T — 2m/sec ®
3. Resultant of two vectors A and B is inclined at 3. gfgar AF B & gfondt It wfesm @ 45°
45° to either of them. What is the magnitude of F oHwor Farar &l gftomdt wr gfemror
resultant ? AT 2
(1) A+B (1) A+B
2) A-B 2) A-B
(3) +/AZ+B? (3) VA? +B?
(4) VA® —B? (4) /AT —B?
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ALLEN
4.

If a=2i-3],b=6i+2] -3k and

¢ =1 + Kk then value of @ — 6b + 2C is :-
(1) 321 —15] +20k (2) 32i + 15] — 20k

(3) —32i —15] +20k (4) zero

At what angle should the two forces 2P and
v/2P act so that the resultant force is P1/10?

(1) 45°  (2) 60° (3) 90° (4) 120°

If X and P: are two vectors, the value of
(X+]§)><(/§—]§) is :-

-

(1) 2(B x A)

—

2) —2(B x A)

(3)]§></§ (4)1§><]§

An empty plastic box of mass m is found to
accelerate up at the rate of g/6 when placed deep
inside water. How much sand should be put inside the

box so that it may accelerate down at the rate of g/6 ?

3m 3m
7 95

2m

n 5

CIRELEY
A mass M of 100 kg is suspended with the use
of strings A, B and C as shown in the Fig.,
where W is the vertical wall and R is a rigid

horizontal rod. The tension in the string B is:-

R
45
\-1900 C
B
"N kx
AN
M=100kg
(1) 100gN (2) Zero
100
1004/2gN —gN
3) Vg “) ﬁg

&

d=2i —3],b=61 +2] —3k @
C=1+k2aA 7 — 6b 4 2C FHTHH BT -

(1) 321 —15] +20k (2) 32i + 15] — 20k

(3) —32i —15] +20k (4) =

QS 2P qUT /2P 3 W ShI0T &1 BT forerd fom
gt s/ P /10 916 812

(1) 45°  (2) 60° (3) 90° (4) 120°
AMATB FARTE, A (A+B) x (A-B)

FAAR :-
(1) 2(B x A) 2) —2(B x A)

3) B x A 4) AxB

e Tk m SoI9M & @Il WTiesd & fgod &l
at it TEE H W@ T 99 9% g/6 % oo o
S | TEod o 3T<T forat @ v ST arfes

TE g/6 A T fa cafa ar 2
2m 2m 3m 3m
(1) =3 (2) 5 (3) e 4) 5

100 feRTIT. o ek Se9m™ M I ST A, B C &I
TERIAT § THAT 77 & ST o ot o gwitan
3 STt W SEaler dar ® 997 R U 3¢ &fos 98
HECEKEIC RSN

R
45
\-1900 C
W B l
\ A
RN
M=100kg
(1) 100 gN ) I
100
1004/2gN ——oN
3) V2g (4) ﬁg
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9.

10.

11.

12.

ALLEN

In the system shown, acceleration of 2kg block is :-

F=20N
0

2kg

(1) zero (2) 10 m/s*upwards

(3) Sm/s*upwards  (4) 5 m/s* downwards
a=2m/s—>
1 ke —a0000—] 2 kg | 6N

If acceleration of 2 kg block at an instant is 2 m/s?,

find the acceleration of the 1 kg block at same

mstant :-
() 1m/s* (2) 2m/s*> 3) 3m/s® 4) 05m/s’

In the given figure by what acceleration the boy
must go up so that 100 kg block remains
stationary on the wedge. The wedge is fixed and

friction is absent everywhere (g = 10 m/s?) :-

m=50kg

(1) 2m/s? (2) 4 m/s?

(3) 6 m/s? (4) 8 m/s?

A force of 10 N acts on a body of mass 2 kg for
a distance of 1 m. The kinetic energy received
by the body is :-

(1) 201 (2) 10J (3) 5] (4 257

9.

10.

11.

12.

T T ehT | 2 foRuT scfieh hT carur BT -
F=20N
0
2kg
(1) = (2) 10 m/s* I FT 3T
(3) 5m/s> FWAHATIAR (4) 5 m/s® = it IR
a=2m/s—>
1 kg —00000 2 kg —> 6N

Ifg 2 kg % Sclieh T 0T Tohell &10T 2 m/s” & T
3T &7 1 kg o Sclleh o T SAT:-

() 1m/s* (2) 2m/s* (3) 3m/s* 4) 0.5m/s’

ol T o # dge T FIT I INT I
1 B T3 100 forum =t safeh Id der q¢ fee
@7 9q ao ot & qur gt sre adur ey @
(g =10 m/s?) :-

m=50kg
N
O
53°
(1) 2 m/s? (2) 4 m/s?
(3) 6 m/s? (4) 8 m/s?

10 N &l T& &, 99 2kg & T fU0g T
I m &t gt % aar 21 fUvg gra e wias
W‘f%:-

(1) 207 (2) 10J (3) 51 (4 257
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ALLEN

13.  Block A is placed on a smooth horizontal surface. 13. sdish A T fasdt &fos gag 9t feya 2
Another block B is placed in contact with A as EGAY sare B faa & gwiia STET A * Ty
shown in figure. The coefficient of friction between gryeh H 1@l 81 A F B h HEY "YUl 0l
A and B is 0.5. The minimum acceleration of block 0.5 81 st A dAdH ol fSra@ sdr
A so that block B does not fall B & fi, ? :-

—_a —_—a
B
R A 2]
A LSS
(1) 10 m/s? (2) 20 m/s? (1) 10 m/s? 2) 20 m/s?
(3) 15 m/s® 4) 5 mis? (3) 15 m/s’ 4) 5 m/s’

14.  The collar A is free to slide along the smooth 14.  FHiaw A, ﬁ;qﬁwﬁgaﬁﬁﬁg—g B X fhgea &
rod B mounted in the frame. The plane of the o7 TodT 21 b 1 9T SeaTa 21 ST T Y9
frame is vertical. The horizontal acceleration 'a’' N : ——
of the frame necessary to maintain the collar in

&iferst caor 'a' (ms2) Bl

a fixed position on the shaft is (ms?) :
g 3g
g 3g 1 —= 2 —
H — 2) — V3 2
(1) /3 (2) NG V2
g g 6 T ) —
3)) ——= 4) — 24/3 5
3) 23 “4) NG V3 V5

15. Find out the friction force acting between the 15. feuwu a4 kg @9 2 kg & el & s o

4 kg and 2 kg block in the given diagram. ATCAT SN ST T ShifSTg)
W= 0.4"\ 2kg o= 0.4.\ 2kg
4kg [——>F=12N akg —>F=12N
VRN /D
smooth smooth
(1) 2N (2) 8N (1) 2N (2) 8N
(3) 6N (4) 4N (3) 6N (4) 4N
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ALLEN

Topic : Some basic concepts of Chemistry, Atomic Structure, Thermodynamics & Chemical Energetics

16.

17.

18.

19.

20.

What quantity of lime stone on heating will
give 56 kg of CaO :-

(1) 1000 kg

(2) 56kg

(3) 44 kg

(4) 100 kg

Equivalent weight of nitrogen in NCl; is:-

(1) 14 (2) 14/3
(3) 28/3 4) 7

An enzyme peroxidase has 5% by weight of
sulphur (S = 32) its minimum molecular weight
will be—

(1) 320

(2) 640

(3) 1280

(4) 480

Which of the following has the highest mass :-
(1) 1 g-atom of phosphorous

(2) 2 moles of water

(3) 22.4 L of CO, gas at NTP

(4) 6.02 x 10* atoms of sulphur

Which series of subshells is arranged in the order

of increasing energy for multi-electron atoms ?
(1) 6s, 4f, 5d, 6p
(2) 4f, 6s, 5d, 6p
(3) 5d, 4f, 6s, 6p
(4) 4f, 5d, 6s, 6p

16.

17.

18.

19.

20.

ATEH T T fRat 9T B ™ R W CaO F
56 kg ITH B -

(1) 1000 kg

(2) 56kg

(3) 44kg

(4) 100 kg

NCl, ¥ ATgZISH T qeaish! W 2:-

(1) 14 (2) 14/3
(3) 28/3 4) 7

T qUFHISS TSM3H H 5% WIITHR 4o
(S = 32) 3URYT B A T-SMgH & ~gAad
T BT

(1) 320

(2) 640

(3) 1280

(4) 480

71 5 © TorueRT ST SRR 81T :-
(1) HIEHITE T | g-qTT

(2) S & A

(3) NTPW CO, & 224 L

(4) ETHF 6.02 x 10% GHTY

FgFI ek T o UL h HIA-HAT A
ST Gt Sl hT T 3§ 2

(1) 6s, 4f, 5d, 6p
(2) 4f, 6s, 5d, 6p
(3) 5d, 4f, 6s, 6p
(4) 4f, 5d, 6s, 6p
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21.

22.

23.

24.

25.

ALLEN

If the shortest wavelength of Lyman series
of H-atom is x the wavelength of first line of

Balmer series of H-atom will be

9x 36x
n = @ =
5x 5x
® 3 @ I

The mass of an electron is 9.1 x 107" kg and
velocity is 2.99 x 10" cm s~'. The wavelength

of the electron will be
(1) 0.243 A (2) 0.0243 A
(3) 421A (4) 0.421 A

The frequency of the photon having a
wavelength equal to 1500 A :-

(1) 5x10"%s!
(2) 5x10 s
(3) 2x10%s"
(4) 2x1071s7!

If the bond energies of H—H, Br—Br and H-Br
are 433, 192 and 364 kJ mol ' respectively, the
AH® for the reaction, Hy,) + Bry,) — 2HBr, is :

(1) +261kJ (2) -103kJ

(3) —261kJ (4) +103 kJ

200 cm?® of 0.1M H,SO, is mixed with
150 cm® of 0.2M KOH. Find the value of
evolved heat.

(1) 1.7KIJ
(2) 2.7KJ
(3) 9.2KIJ
(4) 32KJ

21.

22.

23.

24.

25.

aﬁHfatomﬁmaﬂﬁ%%ﬁwm
EFTWX_‘{\;TFﬁ, H-atom b1 ST ot <t ey @

& fora qiareet &t o= B
9x 36x
n = @ =
5x 5x
3 5 @ 3

& Fode @ FEHE 9.1 x 107 kg @
AT 2.99 x 10" cm s B SAF FI qlTeEd
BT

(1) 0.243 A (2) 0.0243 A
(3) 4214 (4) 0.421 A

T Bl et aimesd 1500A 7 3ueht st
Brft-

(1) 5x10"%s!

(2) 5x10 s
(3) 2x 10"
(4) 2x 107057
3R H—H, Br—Br @1 H-Br & &l il
SHUST: 433, 192 9T 364 kJ mol ' & ar & =it
HATIIRAT Hy ) + By, — 2HBr,, % o AH
AT T L
(1) +261kJ (2) 103 kJ
(3) —261kJ (4) +103 kJ

200 cm®, 0.1M H,SO, & fae@= &, 150 cm?,
0.2M KOH faer=m & @ fueman smar 21 e
T ohT HF 1A ehifST

(1) 1.7KJ

(2) 2.7KJ
(3) 9.2KJ
(4) 32KJ
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26.

27.

28.

29.

30.

ALLEN

The vaporisation process is always :-
(1) Exothermic

(2) Endothermic

(3) Can be exothermic or endothermic
(4) None of these

The work done during the expansion of a gas
from 4 dm’ to 6 dm”® against a constant external
pressure of 3 atm is (1 L atm = 101.32J) :-

(1) 67
(3) +3047J

(2) —6087J
(4) —3047

Standard entropy of X,, Y, and XY are 60, 40

and 50 JK 'mol™!. For the reaction,
3

1
EXZ + EYQ — XY; If AH=-30kJ,

to be at equilibrium, the temperature will be :-

(1) 1250K (2) 500K

(3) 750K (4) 1000 K

For a gaseous reaction,
A+ 3B — 3C + 3D
AE is 17 Kcal at 27°C, R = 2 cal K" mol™" ,

the value of AH for the above reaction is :-

(1) 15.8 Kcal (2) 18.2 Kcal

(3) 20.0 Kcal (4) 16.4 Kcal

Choose extensive properties from the following :

(i) density (i1) specific volume

(iii) Heat capacity  (iv) mole

(v) concentration  (vi) volume

(1) i, ii, iv, v ) i, vi, iii, iv

(3) iii, iv, vi 4) 1, iii, v, vi

26.

27.

28.

29.

30.

FTSHTSRAT ok EHIM BT 2 -

(1) ey

(2) SIS

(3) SEHTEIT I SEATIT B HehelT 2
(4) T G HE T

3 atm & FId aRRE & fTFg 4 dm® ¥ 6 dm?
o forel) 718 o TE o6 S foma e o R 22
(1L atm = 101.32 J) :-

(1) 67
(3) +3047]

(2) —6081

(4) —3041]

X,, Y, AT XY, 3l ATk T2t o T SHEST: 60, 40
TAT 50 JK'mol ' 2, SAfrfsram,

1
5Xa+ %Yg — XY; 3 AH=-30kJ,

& foTu gy g g 2 -
(1) 1250 K (2) 500K
(3) 750K (4) 1000 K

TS TER AR Ay, + 3B, — 3C, + 3D, F
fIT 27°C AT W AE, 17 Kcal ®
(R =2 cal K" mol™) SR AMRaT & fag

AH FTHA 2:-
(1) 15.8 Kcal (2) 18.2 Kcal

(3) 20.0 Kcal (4) 16.4 Kcal

T # foreefiof Torerd =t we=nfa

(1) o e (i) fafsrs stmraa
(iii) ST OIfCET  (iv) AT

(v) |lesdt (vi) TIAq

(1) i, ii, iv, v ) i, vi, iii, iv

(3) iii, iv, vi 4) 1u,iii, v, vi
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ALLEN

Topic : Diversity in the Living World : The living world, Biological Classification, Plant Kingdom

31.

32.

33.

34.

35.

The growth and reproduction are mutually

exclusive events in :-

(1) Plants only

(2) Animals only

(3) Higher animals and plants
(4) Lower animals only

The scientific names ensure that each organism

has:-

(1) Only one name  (2) Two names

(3) Three names (4) Many names

Read the following terms :-
Pili, Lysosomes, Flagella, Plasmid, Mesosome,
Capsule, Holdfast, Pyrenoid, Murein, Zygote

How many terms are related with bacteria ?

I 5

Mode of nutrition in monera is :-

() 6 3) 7 (4) 4

(1) Autotrophic (Only photosynthetic) and

saprotrophic

(2) Autotrophic (chemosynthetic and
photosynthetic) and heterotrophic
(saprophyte/parasite)

(3) Heterotrophic (saprophytic/parasitic) only
(4) Autotrophic (photosynthetic) only
Practical significance of taxonomy is :-

(1) Identification of unknown organism

(2) Explain the origin of organisms

(3) To know the evolutionary process

(4) Identification of medicinal plant

31.

32.

33.

34.

35.

gfg qAT S TREATh [AfRTS (J2eh-T2) HATY
IR

(1) aet areal &

(2) HIA ST H

(3) 3= HITE & TIORN a0 qredt §
(4) haet =1 20ft o Siqat |

I3t A Ig fFfyaar =@ g fF g asfla
Eh"[/éﬁ:-

(1) hdd Tk A EET Rl (2) I 2rd &l

(3) dHAH B R (4) M e B
frefafaa vt =t uen

fora g Sftamy & wwer-aa 82

(1 5 (2) 6 (3) 7 4) 4
TIRT § 97907 o7 ThR ® :-

(1) Ut (Faret JehTeT Heertt) qe gaurt

(2) TIUTS (TETIT TeeTHt TUT JehTST TYerH) aer
[ELECIMIFGRIESIETALSIED!

(3) haet femars (FarasiE/aTsia)

(4) Fact TUTST (STRTET HTeTHY)

A (SfiehT) T TR SETT AT R 2
(1) TTa GSiaT sl qg=m T

(2) HS(iat T 3d THSAT

(3) TomraTees 3faRre st ST

(4) e uEat Sl Te=e
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36.

37.

38.

ALLEN
36.

Which of the following have haplontic life

cycle
(1) Volvox (2) Ectocarpus

(3) Polysiphonia (4) Fucus

A B C
In the diagram given above, some of the algae

have been labelled as "A", "B" and "C". These
algae are respectively correctly identified as :-
(1) Fucus, Dictyota, Porphyra

(2) Volvox, Porphyra, Chara

(3) Volvox, Polysiphonia, Laminaria

(4) Chlamydomanas, Laminaria, Porphyra

Recognise the figure and find out the correct

matching :-

A

(1) A = Archegonia; B = Antheridia
(2) A = Archegoniophore; B = Antheridiophore
(3) A = Antheridiophore; B = Archegoniophore

(4) A = Antheridia ; B = Archegonia

37.

38.

STFOT ST T SHTa =I5k TTT STl &

.-

(1) Ficared (2) THIFHG T
(3) TAFEFIAT H (4) FFE |

m%ﬁﬁA@ﬁmﬁaﬁBA,Bqé%@aiﬁm
foRam T 21 39 ATl Rl ST T TR AT
8.

(1) wgFa, fsaisiler, IRBrRT

(2) FlcTdied, IRIRT, FHRT

(3) FlcTaie, GIeers I, AHARET

(4) FARTZESIHITE, AHARET, TRETRT

R Mo fox 1 wER T W@ gt @
ECER

D

(1) A=%urr; B=9urt

| LEADER TEST SERIES - JOINT PACKAGE / RANK BOOSTER COURSE
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39.

40.

41.

42.

ALLEN
39.

Which of the following is correct about
bryophytes:-

(A) They lack true roots, stem and leaves.

(B) Main plant body of bryophyte is haploid.
(C) Sex organs in bryophytes are unicellular.
Options :-

(1) AandC

(2) BandC

(3) Only A

(4) Aand B

In liverworts, the direct germination of spore

give rise to :-

(1) Prothallus

(2) Protonema

(3) Gametophyte

(4) None of these

In moss the germination of spore gives rise to :-
(1) Prothallus

(2) Protonema

(3) Main plant body

(4) None of these

In mosses bud stage is found in between :-
(1) Sex organs and zygote

(2) Embryo and prothallus

(3) Spore mother cell and protonema

(4) Protonema and gametophyte

40.

41.

42.

STRITRTEEE o SR H T & § e 6ed 2 -
(A) ST STEdTerh Te, T qeT afat e gt 2
(B) SITATHISE T & ITaUshTa STfOT 2T 2
(C) STATHIZE H TfiTeh 3T THHIRTE 2 2
S——

() ATaC
(2) BwWiC
(3) HaAA
(4 AUWB

faawad 4, sfemy % gcae yads & foenfaa
e -

(1) e

(2) TR

(3) FHhIEfE

(4) T HHIE T

e 3 SISO ST & T2 oI 2 -
(1) e

(2) W

(3) T TETHA

(4) SRR A A H1S T

e B shicteht TaeT fohereh Te uTs SATelt 29
(1) wifireR ST 3 A

(2) U SR MATH

(3) Ao #1q =RIfRTeRT SR WA
(4) ST ST g
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43.

44.

45.

46.

ALLEN

Which of the following pteridophytes are
heterosporous in nature ?

(1) Selaginella, Lycopodium

(2) Pteris, Equisetum

(3) Salvinia, Selaginella

(4) Azolla, Lycopodium

Double fertilization and triple fusion are the

characteristics of :-
(1) Bryophyte

(2) Pteridophytes
(3) Gymnosperms

(4) Angiosperms

Presence of true flower is characteristic feature

of :-

(1) Bryophytes
(2) Spermatophytes
(3) Angiosperms

(4) Vascular cryptogams

Solanum, Petunia and Datura belongs to which
family

(1) Malvaceae

(2) Poaceac

(3) Solanaceae

(4) Homonidae

43.

44.

45.

46.

1 7 @ =9, wia # fwsfsmes Siererse
29

(1) Rrctfsre, rgaiifead
(2) 2RE, swEtdI

(3) Grfeaf¥ar, aferder
(4) TSI, CATEFIIETH

fefrierm o frer dora foraeh e @ -

(1) STEHEE
(2) fEmrEe
(3) eSSt
(4) Seasftsit

g o i Iufufa fraer sifwremarfirs
(1) SR

(2) FTHIHR

(3) dforited

(4) Haea foreerm

ictH, g3 a9 gqur e Fe § wrafad
g7

(1) ATaEt

(2) e

(3) HiemdEt

(4) BT
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47.

48.

49.

ALLEN
47.

Statement A - Keys are the taxonomical aid
used for identification of plants and animals.

Statement B - Keys are based on the

contrasting characters generally in pairs.
Select the correct answer using the codes given

below :-

(1) Both A and B are true
(2) Both A and B are false
(3) Aistrue and B is false

(4) A is false and B is true

They are useful in providing information for
identification and name of plant species found
in an area. They are :-

(1) Zoo
(2) Catalogue
(3) Manual

(4) Monograph

Which of the following is wrong statement ?

(1) Binomial system is most convenient
(2) Sub categories facilitate the classification

(3) Hierarchy is ascending or descending

sequence

(4) Seven fixed subcategories are there in

taxonomy

48.

49.

FO A- HivE a€ afichia g qwt @ S
TEUT & STl shl T & STANT H A STl 2
T B- shivrat Tt Sraon ot e g €,
ST HTHTIEET S W I 2

e foor T et T wEREr ¥ wEl I H T
IR |

(1) FHTATBIA TR
(2) FAT AT BIHI 3T ?
(3) FAT A TcT qAT B AT

(4) I A FHT TATB AT B

Th & | IS S aTefl 916y Srfadi o 919 e
TEAM o feTT et &M & H HER B 8, I8
g

(1) SFITe

(2) AT

(3) HFA

(4) ARITE

e 8 @ e HuT T R 2

(1) TEuem wgfd aaifess giaersye 2|

(2) 3UES T BT GG T&H FLd 2

(3) TETIHHA - AL AT UL HA B
H

(4) afiehy § 7 ffera Sugient B9
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50.

51,

52.

53.

ALLEN
50.

Select the incorrect pair :-

(1) Numerical taxonomy — All observable

characteristics
(2) Cytotaxonomy — Cytological information

(3) Chemotaxonomy — Chromosome number

and structure

(4) Phylogenetic

evolution

taxonomy — History of

In which book Linnaeus gave binomial system

of nomenclature for animals ?
(1) Genera Plantarum

(2) Species Plantarum

(3) Systema Naturae

(4) Philosophia botanica

Under suitable conditions slime moulds form

an aggregation, which is known as

(1) Plasmodium
(2) Fruiting body
(3) Sporangia
(4) Spores

Which of the following is known as chief

producer of ocean

(1) Dinoflagellates
(2) Diatoms
(3) Euglenoids

(4) Slime moulds

S1.

52.

53.

T ST ! AT :-
(1) EaTcHes afifeht — gl Yerufig weqor

(2) RIfRTeRT afifehl — IR T
(3) T Ffiieht — TOTEE T Ue HCT
(4) e afitsht — 3fgermi sfaem

forfiae <1 fore qeash | SqeIl o FHATT hl
[ERREAT RN

(1) ST e

(2) T e
(3) ATt

(4) fecTigifear St

ST AR R # TTew HiegH U SR ST
2, ST FEATT 8 -

(1) ersHfeTm

(2) HEHER

(3) st

(4) sy

T | @ 8T HEEIR T 46T IcUTeh FHEArdl
22

(1) SrEwRifocie

(2) S

(3) s

(4) TdUF hdHh
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ALLEN

54. Rust, smut and puffballs all belong to 54. fopg, e 9 UhaTer guff Trafad © -
(1) Phycomycetes )] BISRHTSEEST
(2) Deuteromycetes () @@Wﬁq—aﬁ
(3) Ascomycetes 3) TR RS
(4) Basidiomycetes 4 sfufeammeids
55.  Which of the following does not apply to | 55. T ¥ ¥ &M &1 FoUT THHHABHES W AT
Ascomycetes ? T Brar 2
(1) Mycelium is coenocytic and aseptate (1) <hd<h ST qg%rgor'?lq qoT 3 B 2l
(2) Commonly known as sac fungi (2) WHTIA: Wk T8 ot had 2
(3) Sexual spores called ascospores are 3) SIUES EﬂGﬂﬂl F UEHEIR FHed & aar &
produced endogenously AT ®T T 3T I 2
(4) Dikaryophase is commonly observed 4) STEH NSRS AT Sfard 2t &
56. Which of the following is not applicable on 56. T/ O @ F9ar wEEEEfEds | NIUN EE|
phycomycetes ? BraT ?
(1) Obligate parasites on plants (1) uYen o Afaeshedt wisfelt o €9 § Ui 911 @
(2) Found in moist and damp places 2) T T S 7 T 9 I S 8
(3) Septate, coenocytic mycelium (3) I aur a’gav_sﬁﬁ'q (ﬁl—rﬁﬁﬁéﬁ) EEEASIN]
(4) Endogenously produced spores 4 EﬁTﬂTUl AT Y T 3T~ aId &
57. Which of the following fungi is used 57. T8 U g s &1 SUAM JSUEEEE q
extensively in biochemical and genetic work ? a@aﬁm % o foru feRar StraT @ 2
(1) Neurospora (D) 273?@7??7
(2) Claviceps (2) FAfaawT
(3) Alternaria (3) ST
(4) Aspergillus 4) TEfSorg
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ALLEN

58. Examine the figure given below and select the right 58. = o o o o fFdeqor hifse qer 9 @
option giving all the four parts (A, B, C, D) ey g s @ft = x (A, B, C, D) 3%
correctly identified. >

Y TR T 2
A B C D
A B C D
(1) | Head Collar Sheath Tail fibres
— ()| sff HieR | =D | T=0 d=]
(2) | Collar Head Sheath —
fibres 2)| ®eR |TeBa<| ¥ | ese
Tail <
3| Sheath | Collar | Head (3) | T | W | wew | o
fibres
(4) | Sheath Head Tail fibres | Collar ) © e Todg

59. Most common type of genetic material present 59. Gﬁa'rﬂl‘ﬁGﬂ?ﬁ T Iufkyd @ @MW JHR

in bacteriophages is :- 311@3‘&135 e © -

(1) ds RNA (1) ds RNA

(2) ssRNA (2) ssRNA

(3) ds DNA (3) ds DNA

(4) ss DNA (4) ssDNA
60. Choose the incorrect pair :- 60. Wg’quﬁ aﬁu -

(1) Virus — Nucleocapsid (1) =™ - m

(2) Viroids — Only RNA (2) IS - Had RNA

(3) Lichen — Algae and fungi (3) g - elTeA T Hereh

(4) Mycorrhiza — BGA and higher plants (4) TP - BGA Td 3= TTed
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